CRL INSTALLATION INSTRUCTIONS

crlaurence.com

CRL BRISTOL SERIES
BR178 SLIDING DOOR KIT

A
h

/ NOTE: Glass and U-Channel not included.

C.R. Laurence Co,, Inc. + 2503 E.Vernon Ave,, Los Angeles, CA90058 - 1800.421.6144 - crlaurence.com

1IM0O418_Bristol_05-2023



CRL BRISTOL BR178 SLIDING DOOR KIT CRL

ORDER OF ASSEMBLY AND INSTALLATION

PART S L ST 2
SPECIFICATIONS 3
GLASS FABRICATION . 4
SLIDING DOOR PREPARATION .. 5
Unpack Rollers ... 5
Install Top ROIlErs . ... 5
SITE PREPAR ATION 6
Mark Location for Header Support Bar ... .. ... . .. . . 6
FRAME FABRICATION ... 6
Prepare Header Support Bar ... ... 6
FRAME INSTALLATION . 7-10
Mount Track Holder Fittings . ... ... 7
Install Header ... . 7
Bottom Guide Mounting Options and U-Channel Preparation (Optional) .............................. 8
Unpack and Prepare Bottom Door Guide ........ ... .. . ... . . 8
Install Fixed Panel Curb Mounts .. ... . . 8
Install Fixed Panel ... ... . 9
Place Bottom Door GUIE .. ... .. 9
Install Bottom Door GUIde .. ... ... . . 10
SLIDING DOOR INSTALLATION .. 10
Hang SHidiNg DoOor ... ... 10
Install Bottom RoOIlers .. ... 10
FINISHING 1
Unpack and Install Thru-Glass Pull ... .. ... . . 11
Position and Tighten Stopper ... ... . 11
Install L-Seal ... . 1
BR190-90 DEGREE CONNECTOR INSTALLATION ...t eaeas 12-14

IMPORTANT: READ THIS MANUAL THOROUGHLY BEFORE BEGINNING INSTALLATION.

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P2



CRL BRISTOL BR178 SLIDING DOOR KIT CRL

PARTS LIST
0\
D

BR1UG2

BR1NDS1

Reversible Door Guide
Stopper

SERNHP2 5/16" or 3/8” (8 or 10 mm) Inserts and

Thru-Glass Pull with Gaskets

p ‘ Mounting Screw and Anchor Included
Roller 3\ _
Total Four Included in Kit \\ W S
P P O O :
P 5 5
PP BR1FP2 N
)

Fixed Panel Fitting 3and 4 mm Header Support Bar

Screws for 3/8" (10 mm) Glass Set of Two per Package Allen Wrenches YR
Use with Rollers P 9 BR1AHW2 78 - 3/4” (2 m) Long
Adjustable Height Track Holder Fitting

N, @ @ @
%{"”fr ’ffrrrf,,,,rr( "frrrf,,,,r,r "frrrr,,,,,(r Set of Two per Package
Q. ., i,

Four Mounting Screws and Anchors

DK98L
L-Seal
95” (2413 mm) Long

NOTE: Track Holder Mounting Fittings, Longer Screws for Rollers and Tools Packed with Fixed Panel Fittings

S P EC I F I CATI O N S Drawing not to scale. Shown from exterior.

OPENING WIDTH

P HEADER LENGTH
Fixed Panel and Sliding Door Align at Top
‘ 1 O O
) O O By
il | E O O
ME ©
=
™
C
:m[ mm\mmummm FIXED PANEL SLIDING DOOR
WY
i )
= = T
T LA T ]
o iy DOC ) |
u w o) u Sliding Door Overlaps Fixed Panel —>| [ L
T zZ I 10}
- < o _ 27 (51 mm)
- - =z
z| 5 o z E
o a = v =z
w
gl X = g 3
(@] L 7} (@] =
3/16” (5 mm) .
Standard Gap 5/16” (8 mm)
for U-Channel Standard Gap
— v Y 4—1* i Ly
= —>{<1/8” (3 mm) Standard Gap 1 1/8” (3 mm) Standard Gap—>ll<

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P3



CRL BRISTOL BR178 SLIDING DOOR KIT CRL

GLASS FABRICATION

NOTE: For use with 5/16” to 3/8” (8 - 10 mm) Tempered Glass only. Do Not use Laminated Glass.

A K 4

1 - 3/4” (44 mm) 3" (76 mm)
A4 A4 mm
O3 O 3-1/2" 3-1/2"

5/8” -7116" 5/8" 89 mm S%‘L f"ﬁz 89 mm
(16 mm)< | 2-71€" (62 mm)v >(16 mm) ( ) ( )
Diameter ?7 *{E Diameter \/

(ﬁé :r{rzn) (35; %%) 1/2" (12 mm) Diameter

SLIDING DOOR FIXED PANEL

<«—1-7/8"to 2" (47 to 50 mm)
Diameter
Center Vertically to Door

2-1/2 Suggested Mounting Position.

(64 mm)

SLIDING DOOR HEIGHT
FIXED PANEL HEIGHT

SLIDING DOOR WIDTH FIXED PANEL WIDTH

—{ |« 1/8” (3 mm)

SLIDING DOOR AND FIXED PANEL WIDTH : Overall Width Divided by 2, plus 7/8” (22 mm)
FIXED PANEL HEIGHT : Overall Height minus 3/16” (5 mm)
SLIDING DOOR HEIGHT : Overall Height minus 5/16” (8 mm)

OPENING WIDTH
TRACK LENGTH

A A

Fixed Glass aligns with

l top of Sliding Panel.
Mounting Height — ¢ | |

BN L

Sliding Door
@ <«—— overlaps
Fixed Glass

2" (51 mm)

OVERALL HEIGHT
FIXED PANEL HEIGHT
SLIDING DOOR HEIGHT

1/4” (6 mm) Gap — v 3/16” (5 mm) Gap for
between Sliding Door - =| y—Y<———  Clamps or U-Channel
and wall for L-Seal. ? and Setting Block.

NOTE: Drawings not shown to scale. Track is cut 1” (25 mm) less than Opening Width and centered in opening. Overall Height is height from
curb/floor to top of glass. Drawings shown from interior with Bottom Door Guide cupping Fixed panel. See Page 8 for Guide mounting options.

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P4




CRL BRISTOL BR178 SLIDING DOOR KIT CRL

SLIDING DOOR PREPARATION P @@@@
FF I
Screws for 3/8”

Unpack Rollers
(10 mm) Glass BR1NR1

(1) Unpack and disassemble two sets of Rollers. @ Roller (Four Each)
NOTE: Rollers shipped assembled with ‘
screws for 5/16” (8 mm) Glass. Screws /\ I
for 3/8” (10 mm) Glass and Allen Wrench 4 mm @ Sﬁgie(‘g Iﬁ{n)
packaged with Fixed Panel Fittings. Allen N\ Glass
Wrench 1 )
(2) Adjust wheel height. EXTERIOR / _
) Interior Plate
» with Gasket
Install Top Rollers
Gasket
@ Install Top Rollers on Sliding Door.
. ; Wheel
NOTE: Lower Rollers are installed EXTERIOR
after door is hung. See Page 10.
@ Centered Centered Minimum Maximum
M M 7v77* ) - —
N | N T -
Interior Plate = —
with Gasket B S i o AN il | —
Loosen Screw and Turn Interior Plate to Adjust Roller Height when Installed.
NOTE: Install Rollers with Interior Plate and Gasket aligned at center of out-of-round position. This makes it easier to adjust door height.

Install Top Rollers.

@ N Lower Rollers installed

after door is hung.

@ Tighten with Included
4 mm Allen Wrench.

n NOTE: Longer Screw
for 3/8” (10 mm)
Glass Shown.

-

INTERIOR DOOR
FACING UP

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P5



CRL BRISTOL BR178 SLIDING DOOR KIT CRL

SITE PREPARATION

Mark Location for Header Support Bar
. (
(1) Mark and drill holes for Header Support Bar. h
A A Q ]
€ ,
£ N1l AN |:E
2 ] o
w
| ™ T
T 1
o M 0r 2
L Y =
T \UL }\ z
| = N 3
ARG MOUNTING =
O m| ™ POSITION
5 T z
ol |&
Zz al ey
E i} o
5 |x S
o| |k Q
= L Mini
EXTERIOR CURBy vy ~. 131 (Iar’]’lz%mmm)
Minimum 1-3/16” (30 mm) —>| [— ~~ & from edge
from edge Sl
NOTE: Header Support Bar is generally centered to vertical jamb. Allow at least 1-3/16”
(30 mm) from edge to install Bottom Guide. Fixed Panel mounted to outside Header
Support Bar shown in this manual. Mirror instructions to mount Fixed Panel to inside.
FRAME FABRICATION
Prepare Header Support Bar

@ Measure opening width at mounting points.
@ Cut BR1H2 Header Support Bar.
@ Drill holes for Fixed Panel Fittings.

NOTE: Header Support Bar is cut 1” (25 mm) short from tight dimension and centered in opening, leaving 1/2” (13 mm) gap on each end
to mount. Refer to Fixed Panel Glass fabrication and gap allowance between Fixed Panel and wall to determine mounting hole placement.

OPENING WIDTH
HEADER LENGTH = OPENING WIDTH MINUS 1” (25 mm)
e—A-—e——— B — >

T T HEADER
1/2" —»| —> [«1/2”
(1635,,2" ™) . FIXED PANEL GLASS i A= 3" (76 mm) plus Gap at Wall (2;3;31 ™)
Wall ||« > B > S B = Fixed Panel Width minus 7” (178 mm) Wall
(89 mm) (89 mm)|
Gap at & (&) NOTE: A = 3-1/8” (79 mm) in this example.
Wall —{}«—1/8” (3 mm) Standard Gap Used

Center holes to Header.
Drill 1/4” Diameter
holes through.

EXTERIOR

NOTE: Header Support Bar is
made of stainless steel. Use

hacksaw or special cutting tool. /w%

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P6




CRL BRISTOL BR178 SLIDING DOOR KIT CRL

FRAM E | N STALLATI O N NOTE: Track Holder Fittings shown orientated for installation. RN N
Lo Set Screw at end holds Base to Mounting Blocks \{vhile A
Mount Track Holder F|tt|ngs second Set Screw secures Base to Header when installed. O

itti BR1AHW2
(1) Unpack Track Holder Fittings. Loosen @@ i Tracte e Bating
Set Screws and remove Mounting Blocks. Allen
Wrench g

NOTE: Screws, Anchors and 3 mm Allen 3 g

Wrench packaged with Fixed Panel Fittings. © Flttlng Screws and Anchors
(2) Fasten Mounting Blocks to wall. Base

N Set Screw
t End
Install Header atEn

Mounting
@ Unpack and loosen Set Screws Blocks  Install Mounting Blocks centered
7 to hole. If needed, move
on top and bottom of Stopper. U Outor Blodk uo of down
Slide Stopper and Track Holder to level Header.
Fittings onto Header.

NOTE: Orient Stopper with Rubber Bumpers facing Sliding Door and
Track Holder Fittings with closer Set Screw next to ends of Header.

Align Header with Mounting Block. Slide Track Holder
Fittings to wall and tighten Set Screws to secure.

BR1NDS1
Stopper

> R
< y
‘ \\ \
L
U \ \,\\

NOTE: Ensure Header is level.
If not, loosen screws holding
Mounting Blocks to adjust height.

EXTERIOR

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P7



CRL BRISTOL BR178 SLIDING DOOR KIT CRL
FRAME INSTALLATION (CONTINUED)
Bottom Guide Mounting Options and U-Channel Preparation (Optional)

NOTE: Fixed Panel may be fastened to curb with clamps. Use dimensions shown below to calculate length of U-Channel for each mounting option.
@ Determine Bottom Door Guide mounting option.

end of U-Channel. )
Unpack and Prepare Bottom Door Guide

@ Unpack Bottom Door Guide. Rotate orientation if needed. (Optional)

OR

]

Door Guide caps

Door Guide fits
under Fixed Panel.

Ny

NOTE: Door Guide shipped oriented to cap Fixed Panel on right. Remove Set Screw and loosen Socket Head Screw g ®
to rotate base to change orientation. Insert for 5/16” (8 mm) glass installed. Insert for 3/8” (10 mm) glass included. DBR1gG‘§
oor Guide
Rotate Base
% 4 ’ ﬂ/
A
© g @ - ®® Set Screw
at minimum to
®® @@ Install install Fixed Panel
Loosen Socket .
Remove Head Screw Tighten Socket Set Screw
Set Screw Head Screw
4 mm
Allen Wrench
(Included)

@ Change Glass Insert. (Optional) /
‘ ) 5/16” (8 mm)
Insert Glass

@ Mount Clamps or U-Channel on curb.

EXTERIOR

NOTE: Door Guide installed after Sliding Door is hung. Door Guide with 3/8” (10 mm) )
Glass Insert positioned under Fixed Panel shown in example installation in this manual. ) NOTE: U-Channel not
included. Shown as example only.

C.R. Laurence Co,, Inc. 2503 E. Vernon Ave,, Los Angeles, CA 90058 - 1.800.421.6144

P.8

crlaurence.com



CRL BRISTOL BR178 SLIDING DOOR KIT

CRL

FRAME INSTALLATION (CONTINUED)

Install Fixed Panel

(1) Unpack and disassemble Fixed Panel Fittings.

@ Fit Interior and Mid Plates in Header Mounting Holes.

Align holes in Fixed Panel with Header Mounting
Holes. Install Exterior Plate and tighten Fittings.

Mid Plate
Gasket

Mid
Gasket Plate

»D»

Place Bottom Door Guide

Header Interior
Plate

«D«

Screw

I \\\\‘

Hang Sliding Door and carefully slide

back and forth to check height.

NOTE: See Page 5 to Prepare Door before
hanging and to adjust Roller height if needed.

Place Door Guide to engage with Sliding
Door. Close Door, adjust Guide position

and outline.

@ Remove Door to mark hole.

Remove Guide. Drill hole and

insert anchqr. '
1ISIE

-
-
- P
3 ~ ¥ ~
~ - ~ -
~ - ~ -
~ - ~ -
\ > J \ RN J

-

@
®

(

(E)w»)

IXED PANEL LT
| SLIDING DOOR

=

»

ll\\\l\\\\\‘l

S

| FIXED PANEL 1

@D®

Mid Plate
Gasket

Exterior Plate
(with Gasket)

g
(R
@6

Lower Fixed Panel
into U-Channel, then
align holes with Fittings.

(

-

| E—
| SLIDING DOOR

@@%

Allen
Wrench

BR1FP2
Fixed Panel Fittings

Screw

Interior Plate

Fit Exterior Plate into Fixed Panel.
Turn to engage with Screw.
Use Allen Wrench to
securely tighten.

Exterior
Plate

©®®

EXTERIOR

NOTE: U-Channel not included.
Shown as example only.

C.R. Laurence Co,, Inc.

2503 E. Vernon Ave., Los Angeles, CA 90058

P.9

1.800.421.6144 crlaurence.com



CRL BRISTOL BR178 SLIDING DOOR KIT CRL

FRAME INSTALLATION (CONTINUED)
Install Bottom Door Guide @]m

@ Fasten Bottom Door Guide and tighten Set Screw to Fixed Panel.

Rubber tipped

SetScrewJvr
s ]—M
Allen .

Wrench

FIXED PANEL

)
Ny 8 \

@o s | [ SN2 0 % SIOC)
SLIDING DOOR INSTALLATION ]
Hang Sliding Door

Hang Sliding Door placing
Glass inside Bottom Guide. M[

Install Bottom Rollers
@ Prepare and install Bottom Rollers.

NOTE: Set Screw tipped with
rubber to protect glass. Gasket
provided for other side of Panel.

(@

£2
NOTE: See Page 5 before installing Rollers. 7
G :
@0 jﬂ“] B
€ Header
" P
Wheel ~ Gasket 8 S @
[a}
m 0 »
A — pd P
: :
EXTERIOR _ @ i
m: 7 NOTE: Al
: Align at center
— of out-of-round position.
| m: See Page 5. Q
B
3 e
A @]m nm\\mnm\m\m
2
) : ®0©
2| P8 €| | | < u‘ <« EXTERIOR
O] S 4
ROCRE 3
- IS'<J % _q N o | : Wrench
X ) o) nterior Plate
- T i § O| with Gasket
o O]
— [} Zz
W [a)
& %
(i } L NOTE: Screw for 3/8” (10 mm) Glass shown.
EXTERIOR| Shorter screw used for 5/16” (8 mm) Glass.

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P10



CRL BRISTOL BR178 SLIDING DOOR KIT

FINISHING
Unpack and Install Thru-Glass Pull

Unscrew Thru-Glass Pull. Separate Cover from
Base, select combination of gaskets, and
reassemble on Sliding Glass Door.

SERNHP2
Thru-Glass Pull
with Gaskets

NOTE: Three pairs of Gaskets in various widths included. \
Select one gasket or combine several to obtain desired @@
thickness. Place on each side of glass so Pull is snug.

@@ Hold Base while turning Cover Cover
counter-clockwise to loosen and
clockwise to tighten.

EXTERIOR @@
Position and Tighten Stopper

Move Door to desired maximum open position.
Slide Stopper so Rubber Bumpers contact
Door Panel. Tighten securely. '
Z @0©

@0
& »

Tighten
Top and
™\ /o Bottom Set @
| Screws with Align L-Seal
S 3 mm to top of glass.
HH Allen Wrench Temporarily
attach to Door
1l INTERIOR with painter’s
tape.
Install L-Seal

(3) Cutand install L-Seal.

NOTE: Temporarily attach
L-Seal to Sliding Door and
use as guide for final position.

~"INTERIOR

EXTERIOR
Top of Glass Door
4 [ @ Remove protective liner Remove painter’s tape from / Seal and tool L-Seal edges
H ® = from L-Seal and close Door. Open Door and with Cat. No. RTV408
Door so L-Seal push seal firmly Sealant.
@@ adheres to into place. (
wall. @ N\
Cut @@ @
L-Seal R
Length
| © \
VIEW FROM INTERIOR INTERIO\F\{ Q INTERIOR INTERIOR

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
PN



CRL BRISTOL BR178 SLIDING DOOR KIT CRL

INSTALLATION INSTRUCTION

CRL BRISTOL SERIES
BR190 - 90 DEGREE CONNECTOR

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P12



CRL BRISTOL BR178 SLIDING DOOR KIT CRL
BR190 - 90 DEGREE CONNECTOR

G

0

BR190 assembly BR190 in the package:

(1) 1/4-20 FHP S/S Screw

(1) Mounting Block

(2) Clear Molded Washers

(1) Exterior Plate (Available finishes BS, PS, MBL)

Note: The BR190 connector is fixed and does not have height adjustability. Install the BR190 glass side
connector first, this allows for final adjustments before drilling the wall mount bracket holes.

1. Remove the existing mounting blocks and screw, supplied with the Fitting Base.

2. With your 90° glass return wall installed and secure, assemble the BR190 connector through the
glass, adding a washer on each side, then add the new mounting block and fasten securely with
the screw supplied with the connector.

3. Slide the Fitting Base over the new BR190 mounting block and fasten the set screw on top.

4. Check all fittings to be securely fastened.

|1/2" DIA.
THROUGH HOLE

o

|95

Washr

Mounting
Block

Washer

Assembled view

Exterior
Plate

C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com
P13



CRL BRISTOL BR178 SLIDING DOOR KIT CRL
BR190 - 90 DEGREE CONNECTOR

+—1/2" DIA.
THROUGH HOLE

BR190 glass fabrication

front view
BR190 glass fabrication
isometric view
C.R. Laurence Co., Inc. + 2503 E. Vernon Ave,, Los Angeles, CAS0058 - 1.800.421.6144 - crlaurence.com

P14



